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READ THE FOLLOWING INSTRUCTIONS CAREFULLY.

1 This test consists of 45 items. You will have 1 hour and 30 minutes to answer them.

2. [n addition to this test booklet, you shouid have an answer sheet.
3.. . Each item in this test has foux suggested answers lettered (A), (B), (C), (D). F.ead each item
you are about to answer and decide which choice is best.

4. A list of formulae is provided on page 2 of this booklet.

5. On your answer sheet, find the number which corresponds to your item and shade the space
having the same letter as the answar you have chosen. Look at the sample item below.
Sample Item -

LY
4—2 2 - _) e
el
A 42 Sample Answer
B 4
© @ IO IO
10, B

The best answer to this item is “4°”, so (C) has been shaded.
6. If you want to change your answer, erase it completely before you fill in your new choice.

7: When you are told to begin, turn the page and work as quickly and as carefully as you can.
If you cannot answer an item, go on to the next one. You can return to that item later.

8. You may use silent, non-programmable calculators to answer items.

DO NOT TURN THIS PAGE UNTIL YOU ARE TOLD TO DO SO.
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LIST OF FORMULAE

Arithmetic Series T =a+n-1)d i = % [2a + (n- 1)d]

n

a(r 1) “

Geometric Series T, =gt R 8, = et I Er Ll or 41 .

Circle X+ 4+2Uc+2gy+e=0 x+fN+@+gr=r

Vectors Ve cos @ i v =V (x +32) where v =xi+ yj
FH fal > Tb] N %

Trigonometry sin (4 + B)y=sin 4 cos B+ cos 4 sin B

cos (A + B)=cos A cos B¥sin A sin B

_ tanA4 +tan B
B ) e TR R
sl - d
Differentiation . (ax + b)" = an(ax + b)™!

ek ¥

d
SSIX =I00S X

dx

d 3
——COS X =-8inx
dx

Z!:x,. Zf,x,. i(x,. —X) Zn:jfxiz
i 2_ =l

Statistics o B ,»='|1 s & ,»=|" (PP
n Zf, n Zf,
i=1 i=1
Probability P(A U B)= P(4) + P(B) — P(4 ~ B)
Kinematics v=u+at vi=u’+2as s=ut+ —% ar’
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The function f(x) = 2x* — x>+ hx— 6 can be 5. A quadratic equation is such that the sum
expressed as f(x) = (2x+ 1)(x +2)(x — 3).

What is the value of 4?2 of its roots is —% and the product of its

(A) -I3 3
(B) ~12 roots is Vi The quadratic equation is
(©) 7
(D) 13 (A) 12X+ 8x+9=0
: (B) 12x*-8x-9=0
1 3 ©) 12> -8x+9=0
x+3+?——9 expressed as a single (D) {23 8% 0 =0
fraction is
(A) ’x 6. The setofvalues of x for which e 2 >0
X =il ; * is given by . 2=3x
. o u ¥ g
(B) _
x+3 2 2
ol (A) XiX2=Ux>—
© = B
% —~9
(D) ﬂ_ (B) {x:xSEUx>—2—}
(x* =9)(x +3) _ 5 3
b2 2
C X:i—<x<—
© {riessl
Ifx*—6x+ 13=a(x+h)+k, then
2 P
(&) a=1 h=3 k=4 - {x Faiss
(B) a=1 h=-3 k=4
(€©) a=1 h=—4 k=3
(D) a=-1 h=4 k=3
' 7 The set of values of x for which
? 3x+2>x-21is
The roots of the equation 3x> —6x—5=0 _
are (A) frrxe> 2}
(B) {x:x<-2}
(A) equal ©) rxes 0%
(B) real and distinct (D) {xra > -2}
©) distinct and not real
(D) real and not distinct
2
8. Iff(x) = ‘5"3 ,=3<x<3,xe R, then

(A) 0</f(x=6

(B) -6<f(x=<0
€ -6=<f(x)=6
D) bsf)<-6

GO ON TO THE NEXT PAGE
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9.

10.

1l

The functions f and g are defined as
follows:

xt 1
f:x—>ﬁ,x¢l,xeR

) 1
oL R 2, x#5, xER

The function fg(x) is given by

Fot |

(A)  X#0, 2ER
x—2

(B) }_,_—l,x;t—l,xeR

1] x4l

(&) x£0s XL XER
x=1 l y

(D) x+1: X %~3, XER

@

If function m: x — 5+ 2x, then m (4 —2a)
is

(A) 4-4a
(B) 9-2a
(©) 8 —4a
(D) . 13 -4a

If f':x—>x>—1, x>0, then

(A) fix—1-x xeR
By fix—N(+1), x>-I
(€) Foxoadl—1)azl
(D) fix— T, x#tl

2017

12.

13.

14.

15.

2_"' simplifies to
85

|
(A) P
) %
o B

l
®

V3x27" is equal to

(A) 3 n
(B) 3114:3m
(C) n,‘c’ 13")
© .3

The value of 2 where z =5 + log,3 is

(A)  log, 96
(B) 23
(©) 96

(D) 2%

Given that log, x* = 6, then the value of x
is

@Ay 2
By 4
(©) 8
(D) 64

GO ON TO THE NEXT PAGE



16.

17.

< 18,

19.

Given that log, X = 6 and log, Y =4, the 20.
value of log, [ X J is
-
log 6
(A) logp 4
(B) log 2
: 21,
©) 10
(D) 2
The common ratio of the geometric
sequence 8, 12, 18, ... is
3
A =
(A) A
22,
2
Bj —
(B) 3
3
C k<4
© 5
© =
2
. 23,
The sum of the first » terms of a series is
given by 2(5 —3r). The sum of the first
r=1
10 terms is
(A) -170
(B) -125
©) -115 24,
(D) -85

5
The expression Z(—l)r @)=

r=]

(A) 1089
(B) 549
ey =5
(D) 549

The sum of the odd integers between 10
and 50 is

(A) 60
(B) 600
(©) 630
(D) 1960

A line L passes through the point (6, 5) and
is perpendicular to a line whose equation

is 3x +4y —7 = 0. The equation of L is

(A) 3x—-4y-30=0
(B) 3x+4y—11=0
©) 4x+3y-7=9
(D) 4x-3y—-9=0

‘The lines 7x — 4y + 25 = 0 and

3x —y -5 =0 intersect at the point P.
The coordinates of P are

(A) (5,10
B) 1,8
© 922

(D) (-9, -32)

A circle C has centre (3, -2) and radius 4.
The equation of C is v

(A) X+y’-3=0

(B) X+ +6x—4y+3=0
©) x*+y’-6x+4y-3=0
D) X#+py2+3x-2p-3=0

Two vectors are equal if they

(A) have the same magnitude and
different directions

(B) have the same magnitude and same
direction

©) are parallel and are in different
directions

(D) have different magnitudes and are
in the same direction

GO ON TO THE NEXT PAGE



25.

26.

27.

The vector a is given as 5i + 12j. A unit
vector parallel to a is

(A) 150 + 36j
(B)  195i + 468j

(©) % (5i+ 12j)

28.

3
@) 3 i+ 12))

17

—>
Given that 04 = 25

.-_...} 4
]and OB = 5 , then

o
the vector 4B =

o (3)

® ()

@[5 |
® [ )

The exact value of % is given as

(A) '—\_IB_ 30.
B) %

@ B

(D) V3

[tem 28 refers to the following triangle (not
drawn to scale).

The size of the missing angle X,
measured in radians, is

gy L
) Rt
@ o
R

4r .. ;
T radians converted tc degrees is

(A) 72°
(B) 144°
©) 180°
(D) 288

The smallest positive angle in radians,
within the range 0 < @ < 2x that satisfies
the equation (2 cos 8 — 1) (cos 8 —2)=0is

& 5
® =
© Z
o =
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31,

32.

= 3O

34.

sin (o0 + 45°) is equal to 15

(A) %(Sinoncosa)
(B) %(co.sa—sin @)
© —;-(sina —Ccosa)

(D) %(cosa«sin )

[fsin @= % and @ is obtuse, then tan 8 =

36.
12
A o
(A) G
3
B i
(B) =
5
. ey
©) -
12
(D) =
13
If sin (x + 20°) = cos x, then the value of x
is : 3
A) 350
(B) 450
©) 55¢
(D) 70°

The trigonometrical expression
sin x SE . . :
+ is identical to

l-cosx l+cosx
(A) 2 sin x
(B) 2 tan x
v .

sin x
(D) tan® x

gx—,/uxz +4) =

14x
@ =
V7x* +4
7x
7x* +4
7%
£y —p—
207 +4
7

D ol g,
&) V7x* +4

(B)

At the point (7, 4) on the curve y = fx),

The point (7, 4) is

(A) a point of inflexion

(B) "~ an optimum point

©) a minimurm turning point
(D) a maximum turning point

! 4
The gradient at x:E on the curve

y=cosxis
-
v3
(A) T
1
(B) %
1
©) .
3
(D) 5

GO ON TO THE NEXT PAGE



38.

39.

40.

41.

42,

43.
Given y = 2x? + 3 cos x, then -
dx
(A) x+sinx
(B) x—sinx
© 4x -3 sinx
(D) 4x + 3 sinx
The curve C with equation y = flx)
has a stationary point at (-2, 5). If
S " (x) =x*— 15, then the point (-2, 5) is -
(A) a vertex
(B) an intercept
(C)  amaximura turning point
(D)  a minimum turning point
4 4
If [| /()dx=6, then [ 4f(x)dx+5=
(A) 9
(B) 11
©) 29
1(D) 44 45.
I(cos x—2sinx)dx=
(A) —cosx+sinx + ¢
(B) cosx—sinx+c¢
(C) cosx+2sinx+c
(D) 2cosx+sinx+ec
The region bounded by the curve y = 2x%,
the x-axis, and the linesx =0 and x =1 is
rotated 360° about the x-axis. The volume
of the solid generated can be calculated by
! 2
(A) jo 2% dx
(B) jo'4x“dx
©) ﬂj.ol 2x%dx
b
(D) b4 IO 4x" dx
END OF TEST

Ify=3x-’+cosxthen_|.ydx

(A) X*-—sinx+c
(B) x*+sinx +¢
©) 6x—sinx +c
(D) 3x*-sinx +¢

J.lz(l+x+x2)a’x=

v
(5 4
5
@ -2
1
(D) 85

The region R is enclosed by the x-axis, the
curve y = —x*> + 2 and the lines x = 0 and
x =1.The area of R is '

A 1
5
(B) 5
@) B
m 2
3

IF YOU FINISH BEFORE TIME IS CALLED, CHECK YOUR WORK ON THIS TEST.
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